












































































































Scale 1cm 1km or 100,000

A ship sails 10km from 0 on a bearing of 0520 to
reach B It then sails 8km on a bearing of 1250 to
reach C It then sails 6km on a bearing of 2.340 to
reach D
On what bearing should the ship sail to go straight
back to 0 and far is it
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Scale Drawing and Bearings
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a 58 e 9.58 I 96

Pythagoras l 96 t 9 582 I
z 95.618

z 195.618
z 9.78 tem

Eaux 1.96 tan 4.78
9 58

4 11.60

Bearing of 0 fro D 281.60


